
tTdpah tlf;F 1 juk; 8

 njhilfs;

jpl;lkhf tiuaWf;fg;gl;l nghUl;fspd; njhFjp njhil MFk;

njhil xd;wpid vOJk; Kiw

nrhw;fspy; tpghpj;J vOJjy;

%yfq;fis ,ul;il milg;gpDs; fhw;Gs;sp ,l;L NtWgLj;jp vOJjy;

ntd;DUtpy; fhl;ly;

c + k; :-
1 ,w;Fk; 10 ,w;Fk; ,ilg;gl;l Kjd;ik vz;fspd; njhilapid

nrhw;fspy; tpghpj;J vOJjy;

A = { 1 ,w;Fk; 10 ,w;Fk; ,ilg;gl;l Kjd;ik vz;fs;}
%yfq;fis ,ul;il milg;gpDs; vOJjy;

A = { 2, 3, 5, 7}
ntd;DUtpy; fhl;ly;

 njhilapd; %yfq;fis ,ul;il milg;gpDs; vOjpf;fhl;Lk; NghJ xU %yfk; xU

   jlit khj;jpuk; vOjNtz;Lk;

c + k; :- “tpflftp” vd;w nrhy;ypid njhilapy; vOJk; NghJ

A = { tp> f> l}

njhilapd; %yfk; > %yfkd;W

xU njhilf;F chpj;jhdit mj; njhilapd; %yfk; MFk;.

 c + k; :-
A = { 2, 4, 6, 8} ,y;
2 MdJ A apd; %yfkhFk; vd;gij 2  A  vd vOJjy;.

5 MdJ A apd; %yfkd;W vd;gij 5  A  vd vOJjy;.

njhilapd; %yfq;fspd; vz;zpf;if

njhil xd;wpy; cs;s vy;yh %yfq;fspd; vz;zpf;if mj; njhilapd;

 %yfq;fspd; vz;zpf;if vdg;gLk;

c + k; :-
B = { 1, 3, 5, 7}
njil B apYs;s %yfq;fspd; vz;zpf;if 5 MFk;

n(B) = 5

#dpaj;njhil

%yfk; vJTk; ,y;yhj njhil #dpaj;njhil my;yJ ntWe;njhil vdg;gLk;.

FwpaPL { } or 
#dpaj;njhilapd; %yfq;fspd; vz;zpf;if G+r;rpak; (0) MFk;;

n( ) = 0
c + k; :-

X = { 1 ,w;Fk; 2 ,w;Fk; ,ilg;gl;l KO vz;} njhil Fwpg;gPl;by; vOJk; NghJ

X = { } or 
njil X apYs;s %yfq;fspd; vz;zpf;if 0

n(X) = 0
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2 juk; 8tTdpah tlf;F

gapw;rp

1. gpd;tUk; njhilfs; xt;nthd;wpd; %yfq;fis ,ul;il milg;gpDs;Sk;

  ntd;thpg;glj;jpYk; Fwpj;Jf; fhl;Lf.

1. A = { “PINNAVALA” vd;w nrhy;ypYs;s vOj;Jf;fs;}

2. B = { thdtpy;ypYs;s epwq;fs;}

3. A = { 15 ,Yk; Fiwe;j Kf;Nfhz vz;fs;}

2.

1. ntd;DUtpy; jug;gl;l %yfq;fis ,ul;il

  milg;gpDs; vOjpf;fhl;Lf?

2. n(X) ahJ?

3. fPwpl;l ,lj;jpy;  vDk; FwpaPl;il ,Lf.

1). 25 { 5 ,d; klq;fhFk;}

2). 9           { Kjd;ik vz}

3). khq;fha; { goq;fs;}

4. P= { “CORONA” vd;w nrhy;ypYs;s vOj;Jf;fs;}

1). njhil P ,id ,ul;il milg;gpDs; vOjpf;fhl;Lf?

2).  njhil P ,id ntd;DUtpy; fhl;Lf?

3). n(P) ahJ?

4). “ E ” vd;gJ njhil P ,d; %yfkh? FwpaPl;by; vOjpf;fhl;Lf?

5. gpd;tUtdtw;wpy; #dpaj; njhilapid njhpTnra;f?

X = { 5 ,Yk; Fiwe;j Kjd;ik vz;}

Y = { mff;Nfhzq;fs; 200> 620>780 Mff; nfhz;l Kf;Nfhzk;}

A = { 0}

B= { Kjd;ik kw;Wk; th;f;fvz;}

6. R = { 8 ,Yk; Fiwe;j 10 ,d; klq;Ffs;} vdpd; n(R) ahJ?
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